Tabulka 15

Zakladni material

Prumerny vysledek [t

| Proud [A] Ubytek napéti [mV] Ubytek napéti [mV] R Odpor [uQ]
8mm pasek 100,00 4,66 5,43 50,45
8mm pasek 100,00 4,21 4,81 45,10
8mm pasek 100,00 4,34 4,74 45,40
Ultrazvuk - 6 vzorka, 2. méfeni 3. méfeni I
kazdy méFen 3x |1 Proud [A] Ubytek napéti [mV] |Ubytek napéti [mV] R Odpor [uQ] | Proud [A] Ubytek napéti [mV] |Ubytek napéti [mV] [R Odpor [uQ] |I Proud [A] |Ubytek napéti [mV] |Ubytek napéti [mV] |R Odpor [uQ]
Vzorek UOL 100,00 5,56 5,25 54,05 100,00 521 5,96 5585 100,00 5,23 5,83 55,30
Vzorek U02 100,00 5,73 6,01 58,70 100,00 5,79 6,29 60,40] 100,00 5,72 5,64 56,80
Vzorek UO3 100,00 4,94 5,07 50,05 100,00 4,61 533 29,70 100,00 5,56 5,35
Vzorek U04 100,00 5,41 5,71 55,60 100,00 557 6,38 59,75] 100,00 5,44 5,96
Vzorek UOS 100,00 4,99 5,88 54,35 100,00 5,23 531 52,70] 100,00 5,38 5,45
Vzorek UG 100,00 5,25 5,36 53,05 100,00 4,77 4,82 47,95] 100,00 4,53 4,91
Laser - 6 vzork{ 2. méreni 3. méeni
- | Proud [A] Ubytek napéti [mV] Ubytek napéti [mV] R Odpor [uQ] | Proud [A] Ubytek napéti [mV]| Ubytek napéti [mV] | R Odpor [uQ] |I Proud [A] | Ubytek napéti [mV]| Ubytek napéti [mV]| R Odpor
Vzorek LO1 100,00 9,66 7,82 87,40 100,00 7,54 7,38 74,60 100,00 8,16 8,54
Vzorek LO2 100,00 6,91 7,13 70,20 100,00 7,63 7,34 74,85 100,00 7,31 7,16
Vzorek LO3 100,00 6,88 6,63 67,55 100,00 6,56 6,80 66,80 100,00 6,19 6,59
Vzorek LO4 100,00 6,83 5,62 62,25 100,00 6,24 5,44 58,40 100,00 6,16 5,67
Vzorek LO5 100,00 6,01 5,76 58,85 100,00 5,91 7,74 68,25 100,00 5,96 5,51
Vzorek LO6 100,00 5,53 5,20 53,65 100,00 5,05 5,57 53,10 100,00 5,21 5,05
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